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Subject Code: 3351705 Date: 10/12/2015
Subject Name: Microprocessor and Microcontroller in Instrumentation
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Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol U, 14
List the features of 8051 microcontroller.

8051 HIB5SelAHR oll el ALEL olollell,

List the addressing modes of 8051.

8051 HIBS5ISolAR ofl AJAoL Hls ALl elotlcll,

What is the address range of SFR Register bank?

SFR A2 ds ol ULl 20 9 B?

Which ports of 8051 are bit addressable?

8051 HIB5S2AR ol sl W ofle A3Auc B,
Which port need pull-up resistors and why?

sl WE o YA U %R ofl 32 US B sl 2l MR ?
Show how to save status of P2.7 in RAM location 31.

P2.7 ol RAl RAM et 31 i 3l A A ¢ A vl
Indicate the steps to detect key press.

sl elol Ul HRell UILARA YU

Describe internal structure of Data memory.

32l AURall UidRSs Hiwle] cdlet 53,

Describe PSW SFR.

PSW SFR o] clglel 53U,

Name interrupts of 8051.

8051 ol o212 oll ollH WL
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Q.2 Draw a pin diagram of 8051. 03
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8051 HIB55a2lAR ofl Ulet duus(d €13

OR
How does one, switch register banks of 8051.

8051 ofl %22 ds A RA 3l A 3l asta?

Differentiate between RAM and ROM. Draw the structure of RAM in
8051.

U Al ROM clRA dslaldd UL 8051 ol RAM of Moy €RL.

OR
What do you mean by memory map? Write the address range for
following memory: (a) 8KB ROM (b) 64 KB ROM

A3l Ay AeA g ? ollAo(l AU U2 AReUMioll 6 AW :

(a) 8KB ROM (b) 64 KB ROM
Explain STACK with help of PUSH and POP.

Yol Aol WU ofl Heel RS AU

OR
Explain criteria for selection of microcontrollers.

HBS5elAR ofl Uded(l HiZell HIUES UMl
Differentiate Microprocessor and Microcontroller.
HBSIURARUR ol HIBSISe2lAR ol cslelc AUl

OR
Draw block diagram of 8085 microprocessor.

8085 HIBSIUIA™UR oll 6CllsSIAUH ERL

Explain different jump instructions with their ranges.
(Al %1 et AMoell e WA AMesAl.

OR
Explain different call instructions with their ranges.

QAU Sl YU AMoll 0% U AU

Write a program to subtract the contents of R1 of BankO from the contents of
RO of Bank2.

ds 2 olt RO WLl A5 0 oll R1 of So2o2 GIE Sl oll UAUH AV,

OR
Write a program to add the contents of R3 of Bank1 to the contents of R5 of
Bank2.
ols 1 oll R3 Aol 6ls 2 oll R5 ol Soeod GRRclloll YloUH AW,

Explain various bit level instructions of 8051.
8051 ofl (Al olle 2ctRell YAARA UM

OR
Explain the difference between MOC, MOV X and MOVC instructions.
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MOC, MOVX 4al MOVC el el dglold AHwLc.
Explain the instruction MOV X A, @DPTR with example.
MOVX A, @DPTR YRloll GELEWQL U AU,

OR
Specify the addressing modes followed in the instructions :
MOV R1, #02H and MOV R1,2

(1Al Yool AJALoL HLs WA s1a 3
MOVRL, #02H and MOV R1:2

Explain TCON register of 8051.
8051 oll TCON A2 AMsLAl.

OR
Explain TMOD register of 8051.

8051 oll TMOD A2 UMl
How to program Timer-0 in Mode-2?
2LEHR 0 al 15 2 i 3l A Waun s4.

OR
Explain serial communication in 8051.

8051 Hi {lact AwR AHstAl,
Create a square wave of 50% duty cycle at Port 0.0. Use Timer-0.
2LEHR-0 oll GUAL 531 WE 0.0 WA 50% $% US of WA 0L

ool

Draw interfacing of 8-bit DAC with 8051.
8051 A& 8-0{le DAC of Bo23RI0L €.

Draw interfacing of 4x4 matrix keyboard with 8051.
8051 AU 4x4 ARsU SlollSf So23RIDL €.
Draw interfacing of LCD with 8051.

8051 AU AAS| o Bo2FRL ER.

Write a program to add two 16 bit numbers and store the result in R6 (lower
byte) and R7.

A 16 ofle dvall o GAZ wal URLUH R6 (o{lRl ouge) wual R7 Hi
AoLeall HR s slRlsH Aul.

*khkkkhkhkhikkkkk

(0} 1
04
(0} 1

04

021

03
03

03
03
04
(0} 1

04
(0} 1
07
09

04
(0} 1

04
(0} 1
03
03
03

03



